



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{6} + \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{2}{3} + \frac{1}{3}\right) =$$

$$\left(\frac{1}{6} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) \times \frac{3}{2} + \left(\frac{1}{2} - \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{3} + \frac{3}{5}\right)^2 - \frac{3}{2}\left(\frac{1}{6} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{3}{5} - \left(\frac{1}{4} - \frac{1}{5}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{3}\right)^2 + \frac{2}{5}\left(\frac{3}{5} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{3}{4} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{6} + \left(\frac{2}{3} + \frac{2}{5}\right)^2 =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{4} - \frac{3}{4} \times 3^2 =$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{2} \times 3^2 + \frac{1}{6} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{6} + \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{2}{3} + \frac{1}{3}\right) = \frac{116}{45} = 2\frac{26}{45}$$

$$\left(\frac{1}{6} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 = \frac{299}{96} = 3\frac{11}{96}$$

$$\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) \times \frac{3}{2} + \left(\frac{1}{2} - \frac{3}{4}\right)^2 = \frac{229}{400}$$

$$\left(\frac{1}{3} + \frac{3}{5}\right)^2 - \frac{3}{2}\left(\frac{1}{6} + \left(\frac{1}{3}\right)^2\right) = \frac{409}{900}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{3}{5} - \left(\frac{1}{4} - \frac{1}{5}\right)^2 = \left(-\frac{1}{400}\right)$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 = \frac{503}{540}$$

$$\left(\frac{2}{5} - \frac{1}{3}\right)^2 + \frac{2}{5}\left(\frac{3}{5} - \left(\frac{1}{6}\right)^2\right) = \frac{7}{30}$$

$$\left(\frac{3}{4} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{6} + \left(\frac{2}{3} + \frac{2}{5}\right)^2 = \frac{6419}{5400} = 1\frac{1019}{5400}$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{4} - \frac{3}{4} \times 3^2 = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{2} \times 3^2 + \frac{1}{6} = \frac{1673}{75} = 22\frac{23}{75}$$